M ESEIER Y IR

[MLT)—DER)]
B B UNTY'S

—R—IL K&

SHMEFS5H198(H)
INEALEEEE

BB Riches'E

[(MJLARRLYDE]
BB LEs TR

EEBE INI—IILHAT

BTIL INI—IILEAF

AL Ties

[LT4—ADER]
8 B PEACHES

EEP: EX

[LTF4—RDE TLR—]
LI T)—2TI LA

#2461 CHELSEA

[N L ILIN—&T—ILRDES]
B B IN)—ILI—X

*BE  SPARKS




FULTY)—DE FEREBER

S5 F—LDY T (HY) TIRLERET 3.

FHAIE - BHICONTIE, I— MIMBT —A&BUESEN &,

Aa—+t Q. 30D D—FHREERT B,
F— L% REY Y X—R UNITY’S ABEE EE Riches’ E
AD 13— 15 A® 15— 6 A® — 15— 9 —
RfEY Y A— R 0|:14—16:|2 2[15—8]0 21 16—17 |1
— — L 15— 13-
AD — 15— 13— A® 15— 8 A® — 15— 10—
UNITY’S 21 16—14 |0 2[15—8]0 21 15—12 |0
A® — 6 — 15— A® 8 —15 AD — 7 — 15—
Kol =5 2 8—15 |2 0|:8—15:|2 o 12—15 |2
AD — 9 — 15— A® 10— 15 A 15— 7
Riches’ E 1] 177—16 |2 0[12—15]2 2[15—12]0
L 13— 15 - —
AD F — L % S ty bR | Ra v bR]| B
[EEy > 74— |——] UNTY'S | N 5
, 6
A® A® 2 UNITY’S s 0 , ) 1
. 3
[ Riches” B |——— xmiE =& | 3 AWER XE 0 - 3 / / 4
AD o 4
4 Riches” E T / / 3
FJLZ)—0OF REb—F A2
E I 1285 UNITY’ S
' BB Riches E
UNITY’ S AD
= ¥ 15— 8
AD 2 |: 15: 7 :| 0
5@l
KGEE £\ A®
£ ¥
15— 12
AEEH S [ ]
2 15—12 |0 B B
F a0 AD. AR _
Riches E AD
= H 16 — 14
2[ 6 — 15] 1
AD 17— 16
B2
LEY S —R
ADEE
KEEE EH
AQ
= H 15— 9
AD. AQISE 2[15—9]0 — 3 {if
AQBE




I P 4 Ny
bULRRL YT O AR KHAANE - BHCOOTIE, O— FAHETF — LAGBHESHEOC &, 1) LEYIT—R
B. Ea— K IF—LOU—TH (KBEY) TIEMERET 2. @ | IEI—LAAT
. - 5RA%. 0HDO—HEHKEERH D,
F— L% IRT—LHAT ROOKIE K &L T hT—LEAF BRI A Ry k Y Y X — R Ties
BD 15— 8 E@ 16— 14 E® — 16— 14— E® — 15— 11— E@ — 9 — 15— EQ —15— 8 —
IrT—LHAT 2[15—7]0 2|:W5—8:|0 2| 13—15 2] 17—15 |0 0| 11—15 2| 15—11 |0
— — L 15— 8 - SN — SN — SN —
BD — 8 — 15— B® 15— 12 B® ~— 8 — 15— B® — 9 — 15— B@ ~— 6 — 15— BO) — 15— 6 —
ROOKIE ol 7—15 |2 2|:w5—11]0 0| 10—15 0| 12—15 |2 0| 9—15 |2 11 6—15 |2
AN — — SN — SN — SN — 11— 15
E® — 14— 16— B® — 12— 15— ED —12— 15— E@ — 15— 10— ED ~— 9 — 15— B® — 10— 15—
K&L o| 8—15 |2 ol 11—15 |2 0| 5 —15 2] 15— 7 |0 0| 10—15 |2 11 17—16 |2
SN — SN — SN — TN — TN — 7 —154
E® ~— 14— 16— BD ~— 15— 8 — ED ~— 15— 12— E® 15— 9 — E® — 7 —15— B — 10— 15—
IRT—LEAF 1 15—13 |2 2] 15—10 |0 2] 15—5 |0 2| 15—10 |0 0| 13—15 |2 2| 15— 5 |1
L8 — 15 SN — SN — TN — TN — 15— 11
E® — 11— 15— B® — 15— 9 — E@ —10— 15— E® — 9 — 15— B — 11— 15— B® — 16— 14—
BER LK Ry K 0| 15—17 |2 2] 15—12 |0 0| 7—15 |2 0| 10—15 0| 7—15 |2 1 15—17 |2
SN — SN — SN — SN — TN — 14— 16
E® — 15— 9 — BQ — 15— 6 — ED —15— 9 — E® — 15— 7 — B®@ 15— 11 B — 15— 9 —
RS Y A — R 2| 15—11 |0 2| 15— 9 |0 2| 15—10 |0 2| 15—13 2[15-7]0 2| 15—11 |0
EQ ~ 8 — 15— B -~ 6 — 15— B® -~ 15— 10— BO -~ 15— 10— B® 14— 16 B® 9 —15
Ties ol 11—15 |2 2] 15—6 |1 21 16—17 |1 11 5—=15 2[17—15]1 0[11—15]2
SN — 15— 114 15— 7 - 11— 154 16— 14 —

F— LA FERBK ty bR | Ra v bXR| JBEL
IhT—LHAT 5 171 i / / 2
ROOKE T et et
K&l T et e
IrNT—ILEAF 4 170 9 / / 3
RRANAEY b i ! 5 | 3 OI?O 10 155062190 o
B Y H— % R ) ) i
Ties 3 9 3 / / 4




LT 4 —RADE FRAER

*ERAIE - BHICOOTIE, I— MBI F—AKBHESREOC &,

- — CAF—LOY—TH (BHY) TIEERET 3.
WS Ca—t | sman sso—srmenrs.
F— L% Beans?2 CHELSEA BURN SPRINGER Y= TS5 A
cO 15— 8 c® 15—10 C® —15—11—
Beans? 2[15—12]0 2[15—7]0 2| 15—11 |0
CO — 8 —15— c3 15—10 C® —11—15—
CHELSEA 0| 12—15 |2 1[16—17]2 0| 9—15 |2
— — 12— 15 -
C® —10—15— c3 10—15 C@ —15—13—
BURN SPRINGER 0| 7—15 |2 2|:17—16:|1 2| 4—15 |1
- 15— 12 15— 13
C® —11—15— c® 15— 11 c@ 13— 15
TU—vFT A 0| 11—15 |2 2[15—9]0 1[15—4]2
— — — 13— 15
D F— LA BB S Ty hE | RaU bR JBEA
[ Beans? C®|—|C®CHELSEA | Beans? . § . / / i
3
c® c® CHELSEA o . 3 ) ) 4
5
[7J =275 L ——— BURN SPRINGER | BURN SPRINGER 2 1 / / 2
c@ . 4
T)—=VTFI 4L : 5 / / 3
o _ CAF—LDY—TH (B%Y) TIELERET 5,
BA—F Fa—bF | sses sono—speeara,
F—L% PEACHES K KISEESFRSA T — A A REX
FO 9 —15 F® 15—13 F@& —15— 1 o
PEACHES 0[9—15]2 2[15—7]0 2| 15—3 |0
FO —15— 9 o FO® 15— 8 F® — 15— 10—
B 2| 15— 9 |0 2[15—6]0 2| 15—8 |0
F® —13— 15+ FO® 8 —15 FQ —15— 9 o
KISEEHRSA 0| 7—15 |2 O|:6—15:|2 21 15— 7 |0
F& — 1 —15— F® 10—15 F@ 9 —15
T — A A REX 0] 3—15 |2 0|:8—15:|2 0[7—15]2
FO F— LA B REK Ty hE | RV bR JBLL
| PEACHESF®]—|F@ g% | PEAGHES ; 5 1 / / 5
o 6
F@ F® B3 3 0 / / 1
4
IATZEE L\ ==
[R—#1 FEX ——7] ABE@H%SA | REERSIHSA 1 2 / / 8
F@ T — A REX 3 4
0 - 3 / /




LT4—2DOH REb—F A2 b

C@

15— 13
2|:12—15
17— 16

Ik

FEAGL
Beans?2 c®
= 15— 6
oz ez
FiEB2fL
PEACHES
= ¥
AEBEHE
SHAE ONN): &)
BURN SPRINGER @
= ¥ 15— 6
@ 2 |: 15— 8 ] 0
FEB14L

COOBE

Beans2

£ ¥
c@.cOBE

COME
BURN SPRINGER

c®

15— 13
2|:15—10

LTA—ADE JLYR)—T v F

FiEAMNL
SF)—2T5 A

%
F@

B4
T—ALFEX

FO

15— 9
2|:15—10:| 0

FiEAML
CHELSEA

% ¥
FO. FRBE

E ¥
FO

FiEB3L
KIGEESRSA

F@

F®

15— 9
|:15—13

o

15— 11
2|:14—16:| 1
15 8

FOBRE
T—ASLREX

£ ¥
FOD. FOE

FOMZE
KISERSIRSA

F®

15— 11
2|:13—15
15— 8

Ik

2R PEACHES
B B
— 3 fi
3k H)—2 TS5 A
E2L CHELSEA
14
— 3




FULYILN—&T—)L ROE FEBER

*ERAIE - BHIZDOWNTIE, 3— FRIEF—AKEH ESROCZ &,

o . S5 F—LDY) T (BHY) TIEEZERET S,
AR—h Da—F CFRULDIF— AT, BEHETS.
C—BEOREERIEHRITEE A,
F— L% jupiter SPARK3 IhT—)LI—X RNEEEDZR hysa—Xx
D@0 13— 15 D® 10— 15 D® — 10— 15— D® — 15— 12—
jupiter 0[16—1{]2 0[16—1{]2 2 15— 9 1 15— 9 0
— — L 15— § — L -
DO — 15— 13— D@ 8 — 15 D@ —156— 9 — DO — 15— 13—
SPARK3 2 17— 16 0 0|:8—15:|2 2 17— 16 0 15— 8 0
D® — 15— 10— D@ — 15— 8 — D@ — 15— b — D® — 15— 13—
INJ—)LIT—R 2 17— 16 0 2 15— 8 0 2 15— 56 0 15—10 0
D® — 15— 10— D@ +— 9 — 15— D@ 5 —15 DO — 13— 15—
RNEEEDZR 1 9 — 15 2 0 16— 17 2 0[:5—15]2 11— 15 2
L g — {5 L - — L -
DB® — 12— 15— DO — 13— 15— D® 13— 15 DO 15— 13
Hy R —X 0 9 — 15 2 0 8 — 15 2 0[10—1{]2 2[15—1{]0
F— L% e =3 twy hE | RaobE | B
o 6
1 jupiter ] 3
SPARK3 2 7 2 /
2 SPARK3 3 y 2
3 IhJ—)LIT—X 8 1
4 -0 /
Tho—LI—Z| 7
A TEE L\ =
4 N 0 7 4 / b
. 5
5 hyiar—X 3 y 4




YA N—&T—)L RER B

BE [Tr7—LI—X

@K SPARKS
TER
TRI—JLI—X
c
Sy o122 %
Sy E |: 15— 4
Fi®ats. 5k _ 0 Ll
FiE2{I

SPARKS3










